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0,5 0,5 41 6-1 50
2 2 2
0,5 B=3\/ﬁx\/§=3\/2x5x£=3\/§x\/§x£
01 2 V2 V2 2
0,5 =3><(\/§)2=3><5=15
0.5 C=8+/18+/32 =/4x2 +/9x2 +/16x2
01 :\/Zx\/5+\/§x\/5+\/ﬁx\/5 -3
0,5 = (2+3+4N2 =92
4 -2
0,5 D:3><10 x10 X5:15><103
01 107 -4
0,5 D=1,5x10*
0.5 A+ B=2+15+2-4/15=4 U gyl
A= B=2+415-(2-\15)= 241522415
1,5 0,5 -1
=215
05 Ax B=(2+415)x(2=415)=22 =(V15f =4-15=11
0.5 E=(Bx+1) = x(5x+6)=9x +2x3xx1+1> =5x —6x
01 ’ 2
0,5 =45 +1
ot 0,5 F=9x-5=(3x -5 3
0,5 = (3x=5)3x+45)
o 0,5 V3f=ax3=12er (VI3] =13 .
0,5 1203 = BJIB) =260
05 —2< y<-1353<x<5
’ —243<x+y<-1+5=1<x+ y<4
02 0,25+0,5 1<-y<2=1+3<x+(- y)<2+5 -5
4< x—y<7
0,25+0,5 1><3£X><(—y)£2><5 = -10<xy<-3
3,5+6,5:¢ sanal)
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0,5 sin Xz% et sin’> x+cos’ x=1 et cosx)0 e
cos x=+/1—sin* x= 1_12\/§:£ -1
L5 0,5 V"9 Vo 3
’ 1
tan x= g —lx 3 —Q
272 3 22 4
0,5 Al
3
0.5 BC* =50>=2500 et AB? =30% =900 5
01 AC? = 40° =1600
Clial) LpuSall Cip s diny AR + AC? = BCP ol s
0 A ) 8 ABC
R 1 R 1 -
0.5+0.5 BAC=— BOC et BCA = BOA
1,3 ABC=180" —(A4+ &)=L (360" ~150° ~50°) 3
0,5 . . o2
A=75 C=25 A=80
AC? = AO* - CO? &l cpaill
01 0.5 =6>-3"=36-9=27 -1
0,5 AC=343
(NS) L (CE) et (AC)L(CE) = (NS)/(AC) -2
0,5 0S_OE_ES
of OA OC AC
2,5 0N ES :OS:E:IO plp G
0.5 6 3 33 3
5><3\/§
ES= =53
0,5 3
OES 5 OAC osiliall 44l Juaatina) Sy 1341l5 45y jla
cosN@E:% =co0s30° :izﬁ
0,5 ON ON 2 3
& on_ 10 1043
0,5 3 3
. o .3
01 COA=60" oY cosCOA===— -4
01,5 , * L 6 2
0.5 45 I 38 SON etidl 53 NOS = NOE+ EOS =30 +60° =90°
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